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INTERMEDIATE EXAMINATION - 2019 (ANNUAL)
Model Set
BIOLOGY (Sfia fasm=)

gilenefal & fory fAeer —

Instructions for the candidates :-

1, gSterefi Ty 3 Wl H € 97N ¢ |

Candidates are required to give their answers in their own words

as far as practicable.

2. TR SR BRA W RA g 6 e Piife B #)
Figures in the right hand margin indicate full marks.

3. 39 U3 Bl SFYEd Ued B fory 15 e &1 aifaRed wwa fdar wan
g
15 minutes of extra time has been allotted for the candidate to
read the questions carefully.

4. g YU T @USl ¥ &, WUs—3l Ud Wue—9 |
This question paper has two sections: Section-A and Section-B.

5. WUS—31 H 35 ATS Y B, W U AfErd 7 |

g U & fow 1 i fAuiRa 8 s9¢1 SN Sude R T
OMR—¥ilc # a3 T W& g Bl &lel /et dfcd 99 ¥ W | fHeft



JhR & ®IgeaR /TRa gt /&€ /arga anfg &1 OMR ¥ie # o
BT HAT &, eI GRIET RO =T 81T |

In Section-A, there are 35 objective type questions which are
compulsory, each carrying 1 marks. Darken the circle with
black/blue ball pen against the correct option on OMR Sheet
provided to you. Do not use Whitener/Liquid/Blade/Nail on OMR
Sheet, otherwise the result will be treated as invalid.

wus—q § IR—IEIMS U §, 18 FgSa ueA 8, R @ i 10
yel & IR A1 rfard ] | ude g @ fore 2 3 FiRa 2| swe
srfciRad wvs—q # 06 dId Ia9g wed 1 faw v & o= 9 f5= 3
gel & SR o1 A 8 | U@ U & forw o5 e fFuiRa g

In Section-B, there are Non-objective type questions. There
are 18 Short answer type questions, out of which any 10
questions are to be answered. Each question carries 2 marks.
Apart from this, there are 6 Long answer type questions, out of
which any 3 of them are to be answered. Each question carries 5
marks.

fefl TRE & golagiMe—da &1 gwwrd afofd 2|

Use of any electronic device is prohibited.



Tueg—3l (axqfrss g%)

yo G 1 9 35 9% agfie ue & e W ar e Ry g g
R O T WEY R oY ERT g9 T 9E) ke B OMR-3¥fle R ffved o |

Question No.- 1 to 35 have four options provided out of which only
one is correct. You have to mark, your selected option, on the OMR-Sheet.

Each question carries 1 (one) marks.

1. reTgTe BT JSfIP / arferd A FaT ' ?

A g BRI B. urs¥H Hcgdd
C. uizRy Herd D. ®1E gl

Scientific/Botanical name of pear is —

A. Pyrus communis B. Pisum sativum

C. Pyrus malus D. None of them

2. g g1 o i fewad g 8 ?
A IRT B. BISgl C. A g1 C i D. a3
Reproduction by Budding occurs in which of the followings:
A. Yeast B. Hydra C.BothAand B D. Amoeba
3, Y= gRT SIS Yae fd g g ?
A. 3TTc], B. arex®
C. gedl D. B &R C <HI

Vegétative propagation is carried out by means of Rhizome in —
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A. Potato B. Ginger

C. Turmeric D. B and C both

b HE BT i H B ITER0T § ?

A. 3™ B. 3fTef, C. Tl D. el

Which among the following is an example of Bulb ?

A. Ginger B. Potato B. Onion B. Radish
arrgrdIo # 5 YHR HT YOIAT wrAT S 8 7

A. arTgford B. fggfora

C. g D. ¥ W PIE T

Which type of endosperm is found in Angiosperms ?

A. Haploid B. Diploid

C. Triploid D. None of these

wRrfte freifed fed arr S g ?

A. TR B. HeR C. T D. &
In which of the followings pollinia are found ?

A. Calotfopis B. Pea C. Gram D. Grass
freifed & BiF weiHIEfte Bl € ?

A. 34 B. =reurht

C. dell D. 579 94 3l 8

Which among the following is an example of parthenocarpic fruit?

4



10.

11.

A. Apple B. Pear C. Banana D. None of these
w9 afert fifea fea ufr &1 wuiaro § ?

A. TSIshIg Ufr B. oifar\er ufer

C. e Uf D. 579 &4 $Ig 8l
Mammary glands are modified —

A. Endocrine gland B. Lachrymal gland

C. Sweat gland D. None of these

SHIPIRTA T Fr=ifdhd faperd uram Sirer 8 7

Adisd B HEH C. ¥Ierd D. @i 3
Hoemochorial Placenta is found in which among the followings ?
A. Horse B. Human being C. Rabbit D. Dog
wﬁa@%ﬁw%m%ﬁ@ﬁﬁ%ﬁqwqﬁm
ST BT § ?

A. GoilaarH B. diuwaidl

C. waFEa=<Rd D. gAifee gsteror

The test which is used for study of genetic disorders in a foetus is

called as —
A. Angiogram B. Laparoscopy
C. Amniocentesis D. Clotting test

IR AT B 7



1.

13.

14.

A sifearey B. Y& uRolidl

C. gol d=1 uxeiidl D. B @erm C &l
Cuscuta is —

A. Epiphytes B. Root Parasite
C. total stem parasite D. BothBand C

ST @ETEgmrged) W o7 F=ifed § B SR B |

A HHA B. ggsidl C. g D. 59 ¥ 94l

Which among the following is an example of Hydrophytes ?
A. Lotus B. Hydrilla C. Trapa D. All of these
SaaRads Frifea fas grT IRT TR 1 Al & ?

A. Trr fafeor B. w1 ve fafexon
C. gl D.3mg T U

Mutations can be induced by

A. Gamma radiation B. Infrared radiation

C. Ethylene - D.IAA

et # B @ ABO @ forg fraw o fomar € ?
A TH B. ql C. d= D. IR

How many genes are responsible for ABO system of blood group
in humans ?

A. one B. two C. three D. four



15i

16.

17.

18.

& 1 v v A Q1 Yfoediegs @ 9| 31 g fha Bkl 8 7

What is the distance between consecutive two nucleotides of B-
DNA ?

A 27A B.34A C.332A D.3.7A

fr=rifa % w9 g dF 8 ?

A. AUG B.GUG C.UAA D. AAA

Which among the following is termination codon ?

A. AUG B.GUG C. UAA D. AAA
S o U fgaqusell o1 fawmar fmfoa # @1 & ?

A & AT ufd [ B. /3T qRITHR
C. JHHIR D. g8 & gl
The characteristic feature of DNA double helix is —

A. Complementary & antiparalled B. always circular
C. Parallel D. All of these
TS b1 raedt 3T fifha # qant —

A. ffdecfeT fereeht B. ®ifdhad

C. S 31 qoT d D. ufewrs

Which among the following is vestigial organs in Man ?

A. Nictitating membrane B. Coccyx



19.

20.

21,

C. Both Aand B D. Pelvic.

IRFBACRRT 69 Bt # yran SA-arer geft o |

A. feafas B. SRR

C. ®eRmw D. 14 9 ®Ig &l
The bird Archaeopteryx was found in which period ?

A. Triassic B. Jurassic

C. Cretaceous D. None of these

SIHaTed & U Bl R Hed & 2

A. THTTSH B. tfersiereiiotl  C. gATatsh D. grrcrof

The study of fossils is called as —

A. Entomology B. Paleontology

C. Analogy D. Homology

RIgagfderdiergs @ fifea # i aRaifta awar & ?
A ZART B + AL &R

B. XA &R + UIEH

C. AN DY + BIABIRG 37

D. REYfIeaaEe + Bahe U

Which among the following sequence defines ribonucleotide ?

A. Ribose sugar + Nitrogenous base

B. Ribose sugar + Protein



22

283

24,

C. Ribose sugar + Phosphoric acid

D. Ribonucleoside + Phosphate group.

fg PIRBIT BT Aaa | WIAARY (FeeE) &1 fhar wu~ &l & ?

T FaTg |

A. FTSE™H B. Jrga
C. TR D. T
Name the organelle which helps in translation.

A. Lysosome B. Ribosome
C. Spliciosbme D. Exone

SR TR ey el ® ?
A A-HIRTTY B. B-®ITRramd

C. T—aIfRr®1y D. K—&ifRramy

Humoral immunity is related to which among the followings ?
A. A-cells B. B-cells C. T-cells D. K-cells
ergwigs il &1 fF=ifed § o 7 o9 e 7 ?

A. IReg v B. wiroHIfead drgdayd
C. ATl SIEH! D. 398 9 ®I3 T8l

Which among the following is causative organism of Typhoid
disease.

A. Bacillus anthracis B. Plasmodium vivax




25.

26.

21,

28.

C. Salmonella typhi D. None of these

BYIT, BhE, MR dicd T JaT A8y 3N H T g 2|

A. 3 w4t gdiaRd g B. AR &

C. SiFFERY & D. SEAR 7|

What is common to Earthworm, mushroom, dung beetle and sdil
mites? They all are

A. herbivores B. Carnivores

C. Omnivores D. Detritivores

iR a9 fegs forv fawaa € ?
A. SIRTH B. =ar C. f&zo D. 3R

Gir forest is famous for —

A. Giraffe B. Cheetah C. Deer D. Lion
U RS # MMER i@ fdhas UHR @ 8l & ?
A T B. Sgicd C. a9 A 921 B D. ®Ig a1

What are the types of food chains in an ecosystem ?

A. Grazing B. Detritus
C.BothAand B D. None of these
faifdhd § | i a1 Sig fagw 8w ?

A. |He AR B. SIet C. f&zor D. 919

Which among the following animal become extinct?
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29.

30.

31.

32

A. White peacock B. Dodo C. Deer D. Tiger
Tefedg g fifea # 4 a9 8 ?

A. g1aT B. dSRIEAT C. ATTG-Y D. SFi 9 den &
Which among the following is xerophytic plant ?

A. Trapa B. Casuarina B. Opuntia D. Bothband c
UThiad SfiF FelfRT HaEed &1 ITERT & ?

A TR wifvns B. <NfrR wifows

C. CE—<fHS D. dRIIH

An example of natural gene cloning vector is -

A. Circular plasmid B. Linear plasmid
C. Ti- plasmid D. Virion

AT q9f & & SRS B & ?
A. CO Tdar CO, B. NO, @2 SO,
C. CO,Tar NO, D. Ny<=m NO,

Acid rain occurs is due to —

A. CO and CO, B. NO, and SO,
C. CO,and NO, D. N,and NO,

IRGAT AFART TAT FATT AT fhaa) ur=id feet & ?

A. g B. % C. Ag®HT D. T

1d



33.

34.

35.

Sharbati Sonora and Kalyan sona are improved varieties of

which among the following ?

A. Rice B. Wheat C. Maize D. Pulses.
gy b Ay gRT <8 # wHuiaRd gdr 8 ?

A e B. ATEhIIaDH

C. dacdRead D. WUCI®IFhY

Which bacteria transform milk into cured ?

A. Clorostridium B. Micrococcus

C. Lactobacillus D._Streptococcus

w1 yoirgya Freifea frad grRT fam o1 wsdr 8 2
A IR®T el B. S1& HadH
C. Sfigged HaelH D. B wd C gl
Somatic embyogenesis can be done by —

A. Cell culture B. Tissue culture
C. Protoplast culture D. BothBand C

AR TF U oS ade o fee Frifya fear smar 82

A. dfa SfF @1 B. fiiered &I
C. Sfarvsit &I D. ®a®l Bl
RNAI is a method used to control

A. Ball worm B. Nematodes

12



C. Bacteria D. Fungi
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Section-B (Non-Objective Type Quesitons)

g Sad ugq (Short Answer Type Questions)

Ue W1 1 Y 18 b oY S BIfe B U T T 9 el 10 UE & SR
Frferpe 50 weal # < | URE e & forg 2 oo Fwifa €1 10x2=20

Question no. 1 to 18 are Short answer type questions. Answer any 10 of

them in 50 words. Each question carries 2 marks. 10x2=20

1 WA arashd gfEg | oMy & wHsd & ? fordd | 2
What do you mean by Global Warming? Explain.

2 o9 fafderar & yaRi &I gl | 2
Describe the types of bio dieversity.

3 ORI o & A @ e et & R ford | 2
Write an account of four benefits of transgenic animals for human
welfare.

4, foees @ 87 30 WiQERY o gry <wid | 2
What is binary fission? Giving suitable example show it with the
help of diagram.

5. yR¥—aE BN PN W § ? 378 I ford | 2
What are initiation codons? Name them.

6. ou® G Q9 wHE ¥ ? frd <1 Aeayet Briet a1 Seord

14



10.

11.

12.

13.

Ead 2
What do you understand by tissue culture? lllustrate its any two
advantages.

FAGISI] Il BIFITSAT BT o g T | 2
Draw the sketches of a zoospore and a conidium.

TRATV & AT Pl gy | 2
Mention the advantages of self-pollination.

T W AR T - €7 WIErER WA | 2
What are communicable diseases in human beings? Describe

with suitable examples.

effarer ydes B " # 9 | 2
Write about poultry farm management in brief.

freifhd deaeRi o fwaRa vy fod — 2
A). GMO B). STD C). AMP D). VNTR

Write expanded form of the followings :-
A). GMO B). STD C). AMP D). VNTR

RIe—$e! 7o FaN-Bg! H SfiR e B | 2
Distinguish between missing link and connecting link.

fr=ifha § HIGERY IR WK H— 141=2

A JUS—Yoid Tl Folld Yoldh B. #1g =k AT FHNd Th

15



14.

15.

16.

LIt

Differentiate between the following :-
A. QOvipary and Vivipary
B. Oestrus cycle & Menstrual cycle

7 # gFare wolRar denm gefidfa T @ Ioe wReld) @
dsfae AW ford | 1+1=2

Write the scientific name of causal organism of Malaria and
Elephantiasis diseaserof human beings.

e gguur | a1 werd 8?7 sua fAfr gral o fore | 2
What do you understand by Noise pollution? Describe its various
sources.

Sig Grenfire! § o golag RN 3 fhl 1 Sl &1 ford |
Mention any two applications of Gel-Electrophoresis in

biotechnology.

WH—A & &l $T e wWi—B & =l o Y| Y% x4=2
TI-A. w9-B

YFerSH 3T

a0 AT ST

STy R ST

Match Column A with Column B.

Column - A Column -B

16



18.

Ectoderm Ovum

Testis Female reproductive organ
Fertilization Nervous system
Ovary Male reproductive organ

WY ARYAY 319 HT FAR ol® Hisd &1 AMifba o guril
qeIm ARl qoirsil & M ford | 1+1=2
Show diagrammatic representation of clover leaf model of t-RNA

molecule and name the four arms.

e 3T g9 (Long Answer Type Questions)

U9 AT 19 ¥ 24 TP < ST Bife & g & g8 I fHEl 3 Ul & TR

IfrHTH 120 veal H | TP U b forw 5 3 fAuiRa g1 3x5=15

Question no. 19 to 24 are Long answer type questions. Answer any 3 of

them in 120 words. Each question carries 5 marks.

19.

20.

Sig JdRG W T WESW B | T YAl Bl R-HT B UgAd 27
fo=gl <1 ofg Sdve & A ford | 142+2=5
What do you understand by bio-fertilizer? What are the benefits
soil gets from them? Name any two such bio-fertilizers.

HgoTelld dlelld &1 U MBR H@ell Bl = g1 g9 | 5
Show food-chain in a fresh water pond and illustrate with the help

of diagram.

17



21

22.

23.

24.

SaRadd ¥ @ auEd 87 §= w9 9 A fHaT USR BT Ear &7
D! HE Bl g | 1+2+2=5
What do you understand by mutation? What are their main types

and mention its significance in brief.

FTE WO | Fa1 W &7 U8 b o grT wa fE oman 8?7 g\

WA & SUGIfams & |9 H g | 2+1+2=5

What do you mean by Cry-protein? It is obtained from which

organism? Describe its various uses.

STRT fRreelt @ar 82 U fba™ USR &1 B 27 Herg H ford |
2+1+2=5

What do you mean by foetal membrane? Mention its types and

explain it in brief.

freifeee % fpl aF w fewh fordd | 2Vsx2=5
A. TCRIDT B. vrga ™
C. degar D. el 3ifdsl Jidd

Write short notes on any two of the following :

A. Fisheries B. Ribosome

C. Infertility D. Red data book.



